THE INDEFINITE INTEGRAL

1 Find: (a) jxdx (b) j(x2+x+1)dx © J'(3-x2)dx
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THE INDEFINITE INTEGRAL

2 Find: (a) [Vxdx ® [Ldx © [(1+x+x)ax
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THE INDEFINITE INTEGRAL

4 1If —l 1+ x +3x°, find the equation of the curve that passes through the point (2,6).
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51If 1++/x, find the equation of the curve that passes through the point (4, 10).
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PRIMITIVES OF TRIGONOMETRIC FUNCTIONS
1 Write the primitive function of:
(@) sin2x (b) cos3x (c) sec’x (d) sinx+cosx
(e) 2sinx—3cosx f) sin(x+%) (9) cosi;— (h) 2sin2x
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2 The primitive of 3cos§ is:
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PRIMITIVES OF TRIGONOMETRIC FUNCTIONS
3 Find:

(@) j(sin%+cos§-)dx (b) I(sinx—cost)dx (c) jsin(2x+%)dx
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PRIMITIVES OF TRIGONOMETRIC FUNCTIONS

4 (a) Differentiate f(x) = log (sin x) (b) Hence integrate 2%

sinx
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5 The gradient of a curve is given by % = 2sin 3x. If the curve passes through the point (g’ 3 ), find the
equation of the curve.
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